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Question Type : MCQ Is Question Mandatory : No
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A simple pendulum of mass “nr’, length ‘I and charge “+4’ suspended in the electric field
produced by two conducting parallel plates as shown. The value of deflection of pendulum

in equilibrium position will be :
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan‘{ix Cy(Vy + V) }
1 mg  (Cq + C)(d - t)

mﬂ—{ix C (Vi + Vo) }
5 mg (Cl + Cz)(d — f)
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mg (Cq + GCo)(d—t)
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Find the truth table for the function Y of A and B represented in the following figure.

D

BO DC)

Options :
A B Y
0 0 0
0 1 1
1 0 0
1 1 0
1,
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A B Y
0 0 0
0 1 1
1 0 1
1 1 1
3.
A B Y
0 0 0
0 1 0
1 0 0
1 1 1
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle of mass M originally at rest is subjected to a force whose direction s constant but
magnitude varies with time according to the relation

2
F=F01—[£]
T

Where Fy and T are constants. The force acts only for the time interval 2T. The velocity v of
the particle after time 2T is:

Options :
. FoT/3M

| 4F T/3M
, FoT/2M
, 2FT/M

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
. FoT/3M

| 4F,T/3M
, FoT/2M

, 2FT/M

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IL

List I List II
)  Capacitance, C () MILIT-3A-1
)  Permittivity of free space, €, i M- IL3T4A2
(c) Permeability of free space, p, (i) M~1L72T*A?2
(d) Electric field, E (iv) MILIT-2A72
Choose the correct answer from the options given below :

~ T

o

Options :

, (@) = (i), (b) = (iv), (c) = (i), (d) = @)

, (@) = (), (b) = (i), () — (i), (d) = (1)



5. (@) = (i), (b) = (i), (¢) = (v), (d) = (i)

, (@) = (), (b) = (ifi), (c) — (1), (d) — (1)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
efly 1, eflgy 1T 00wl ¢.2injoals] €oldde)d.
allgy'I eflgy' 11

(a) dapmiigaded, C i MlT3a-1

) ompoodledonied eadddald, e, () MTILT3T!A?
(©  wmpmdesonieon euddomleld), p, (@ M™IL72T!A2
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Options :

, (@) = (i), (b) = (@iv), (¢) = (i), (d) = @)

, (@) = (), (b) = (i), () — (iii), (d) — (i)

5, (@) = (iii), (b) = (i), (c) = (iv), (d) — (i)

5, (@) = (i), (b) = (ifi), (c) = (), (d) — ()

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One mole of an ideal gas is taken through an adiabatic process where the temperature rises
from 27°C to 37°C. If the ideal gas is composed of polyatomic molecule that has 4 vibrational
modes, which of the following is true ?

[R=8314]mol 1K™!]
Options :

work done by the gas is close to 582 ]
1.

5 work done on the gas is close to 582 ]

3 work done by the gas is close to 332 ]

A work done on the gas is close to 332 ]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below is the plot of a potential energy function U(x) for asystem, in which a particle is

in one dimensional motion, while a conservative force F(x) acts on it. Suppose that
E o= 8 the incorrect statement for this system is

U(D A

= o

0 1 X I Xy

[ where K.E. = kinetic energy |

Options :
, atr=x, K.E. is greatest and the particle is moving at the fastest speed.

, atx<y, KE. is smallest and the particle is moving at the slowest speed.

, atx > xy, K.E. is constant throughout the region.

. at x'= x5 KE. =4 ]



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1



Consider the following statements ;

A.

B.

G
D.

E.

Atoms of each element emit characteristics spectrum.

According to Boht's Postulate, an electron in a hydrogen atom, revolves in a certain
stationary orbit.

The density of nuclear matter depends on the size of the nucleus.
A free neutron is stable but a free proton decay is possible.
Radioactivity is an indication of the instability of nuclei

Choose the correct answer from the options given below :

Options :
A, B and E only
1.

A, C and E only
2.

B and D cmly
3.

, A B,C,Dand E

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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, A B,C,D,E

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A raindrop with radius R=02 mm falls from a cloud at a height /1=2000 m above the
ground. Assume that the drop s spherical throughout its fall and the force of buoyance may
be neglected, then the terminal speed attained by the raindrop is -

[ Density of water £, =1000 kg m?

and Density of air f=12kg m3

¢=10 m/ g

Coefficient of viscosity of air =18x 107> Nsm ™2



Options :
1 250.6 ms—1

, 4.94 ms—1
, 144 ms—1

4 43.56 ms—1!

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R=0.2 mm epon)es 60} avem)es], @0uflaafad allmjo h=2000 m pwnelaes
coielad oo maeede) allgimy. albalalsd agaoeizajosio mealwies ajlo Guogo
moaammMjo @ealan] (buoyance) anclo @lae Al0moaEMM)0 Mumelallojodd, m)egl
cMSlpRsasIM @i snio @6 -

[ pusgale mom £, =1000 kg m™3

anwlled oo f =12k m=3

g=10m/s?

awjled almieaomidwes nemomo =18x107> Nem™? |
Options :

1 250.6 ms—1
, 4.94 ms~1
, 14.4 ms~1

4 43.56 ms—1!



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ra | o

A physical quantity 'y is represented by the formula y = ey g i

If the percentage errors found in y, m, 1, | and gare 18,1, 05, 4 and p respectively, then find
the value of x and p.

Options :
1 4and = 3

>, Dand * 2

3 8and * 2
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
a0} conle apgal”y om mjalafeoym mymandoy = mtr~g" 1 2 @oan. y, 1,
g agmilcuciad 9ag rmmam ey @Ldae 18,1, 05,4, p agmicuwonamelad, x adwyo
p oo allel drengjallanye.
Options :
. 460 * 3 6o

2.590 + 260



3.890 + 260
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two Carnot engines A and B operate in series such that engine A absorbs heat at T, and
rejects heat to a sink at temperature T. Engine B absorbs half of the heat rejected by Engine A
and rejects heat to the sink at Ty, When workdone in both the cases is equal, the value of T
IS

Options :

2 1
o e T
31" g3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The planet Mars has two moons, if one of them has a period 7 hours, 30 minutes and an
orbital radius of 9.0x 10° km, Find the mass of Mars,

2
Given 4% =6x 10" N m™ kg2

Options:
5.96 x 10!° kg
1.

3.25%x10%! kg
2.



6.00% 1023 kg
3.

7.02x10% kg
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.0000) (aoomlm eas” al(monne. amilan eacudemndadoeo 7 aaran)t,
30 daflgmoo (eaematoemlen oo 9.0 10° km @oemEld, falqwies aon

2
Aol S\, | Given 4% =6x 10N m? kg?

Options :
5.96 x 101° kg
1.

3.25%x10%! kg
2.

6.00 x 1023 kg
3.

7.02x10% kg
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass 0.5 kg is executing simple harmonic motion. Its amplitude is 5 cm and time
period (T) is 0.2 s. What will be the potential energy of the object at an instant = %

starting from mean position. Assume that the initial phase of the oscillation is zero.



Options :
10-=3
, 62x1073]

1N3
, 12103 ]

, 0.62]

103
, 62x103 ]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An automobile of mass ‘" accelerates starting from origin and initially at rest, while the
engine supplies constant power P, The position is given as a function of time by :

Options:

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Figure A and B show two long straight wires of circular cross-section (a and b with a <b),
carrying current [ which is uniformly distributed across the cross-section. The magnitude of
magnetic field B varies with radius r and can be represented as :

f

€l
\

(19

Fig. A Fig. B
Options:

1.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical particles of mass 1 kg each go round a circle of radius R, under the action of
their mutual gravitational attraction. The angular speed of each particle is :

Options :

G
. V2Rr?

1[G

2\ R3

A L
R\ G

2G

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron and proton are separated by a large distance. The electron starts approaching
the proton with energy 3 eV. The proton captures the electron and forms a hydrogen atom in
second excited state. The resulting photon is incident ona photosensitive metal of threshold
wavelength 4000 A. What is the maximum kinetic energy of the emitted photoelectron?

Options :

, 33 eV

5 No photoelectron would be emitted

5 7.61 eV



, 141 eV

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
. 3.3 eV

, GaN0G30 EDAILG(SOEND all0EICIGlY

5 7.61 eV

4 141 eV

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The expected graphical representation of the variation of angle of deviation ‘" with angle of
incidence ‘{' in a prism is :

Options :

1.
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Correct Marks : 4 Wrong Marks : 1



A 100 () resistance, a 0.1 wF capacitor and an inductor are connected in Series across a
250 V supply at variable frequency. Calculate the value of inductance of inductor at which
resonance will occur. Given that the resonant frequency is 60 Hz.

Options :
, 7.03x10-° H

, 703 H
, 0.70 H

4 70.3 mH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

. 7.03%x10-5 H

, 703 H
, 070 H

. 70.3 mH

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The resistance of a conductor at 15°Cis 16 () and at 100°C is 20 (). What will be the
temperature coefficient of resistance of the conductor ?

Options :

. 0.003°C—1
, 0.010°C 1
5 0.033°C 1
4 0.042°C—1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
. 0.003° C—1
, 0.010° C~1
, 0.033° C—1
, 0.042° C1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What will be the magnitude of electric field at point O as shown in figure ? Each side of the
figure is [ and perpendicular to each other ?

A 1D
o (+9)
I
; (t) o 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum amplitude for an amplitude modulated wave is found to be 12 V while the
minimum amplitude is found to be 3 V. The modulation index is 0.6x where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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For the circuit shown, the value of current at time t=3.2 s will be A
A
1) f=mmememm e
| R=10
V(t) | AMWA
I
' V(Y
| | 15V
N 9 D T
| | |
| | |
| | |
. R
0 1 2 3 ¢4
t(s) —>
Figure 1 Figure 2

[Voltage distribution V(t) is shown by Fig, (1) and the circuit is shown in Fig, (2) ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Correct Marks : 4 Wrong Marks : 0
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1

Question Type : SA
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In the given figure the magnetic flux through the loop increases according to the relation
dlt)= 10/ +20t, where dgis In milliwebers and  1s in seconds.

The magnitude of current through R=2 () resistor at t=5 s is mA.

X X X X X
R=2()

X X X X X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Correct Marks : 4 Wrong Marks : 0
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The K X-ray of molybdenum has wavelength 0.071 nm. If the energy of a molybdenum
atom with a K electron knocked out is 27.5 keV, the energy of this atom when an L electron
is knocked out will be keV. (Round off to the nearest integer)

[h=414x1072 Vs, c=3x 108 ms ™! |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The water is filled upto height of 12 m ina tank having vertical sidewalls. A hole is made in
one of the walls ata depth /1" below the water level. The value of i for which the emerging
stream of water strikes the ground at the maximum range is m,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

losnow clonagias ao) soaiad 12m g omia alan aaiggo dlddam), geile o
069 i’ eayeanad demlwled aoy mindleo pansossialidanimy, aljomm) cuoym exuage

alonolwl @deaid alalanod smam alomlegs I o alawoem
_ m

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the given figure, two wheels P and Q are connected by a belt B. The radius of P is three
times as that of Q. In case of same rotational kinetic energy, the ratio of rotational inertias

I_l} will be x: 1. The value of x will be .
Iy

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
omidlanym al@onld ome ausmmd P @ Q Wl deumg B admoae
ontlaflafidlanymy. P @jes @aco Q @ies epomlad ajm) aSaBoam. aldidld:

ly

onafleaotego amodloymond alo@la | L
I

oy x: 1. gales x e alle @per

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A small block slides down from the top of hemisphere of radius R=3 m as shown in the

figure. The height '’ at which the block will lose contact with the surface of the sphere is
m,

(Assume there is no friction between the block and the hemisphere)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

afmeolad soemlofldlanime’ euose 60} pa0lw &3 R=3 m @OODER
motwenogmian aingd almjo oo moesan; aioymy. enogmian (imeieslnd
oo &g allsynad edaym oo Y’ m @pen.

(5o @edwenagao marlad eeidaemo gl agmy mumalan)s)




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A swimmer wants to cross a river from point A to point B. Line AB makes an angle of 3(°
with the flow of river. Magnitude of velocity of the swimmer is same as that of the river. The
angle § with the line AB should be °, 50 that the swimmer reaches point B.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



&) mimmdasonnt sllm) A wled afemgo el B aleaias mAl dsioied dsanemo. Gos
AB melwpas ay)ailn’ 30° eaoemgal panrssnymy. mirmmanoead (wewwo
melwjesalle mjeyaoen. dlrmdanend B wla agemm alwed cea AB wjaiwgs
CA06mR0 0 > moldlanamo.

U
30’

A

Response Type : Numeric

LILLE

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes simple harmonic motion represented by displacement function as
x(t)=A sin (ot +4)

If the position and velocity of the particleat t =0 sare 2 cmand 20 cm s~! respectively, then

its amplitude is ¥v2 cm where the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

runomoro aareed x(t)=A sin (ot-+6) agem mjafiaeoaym alwedld aoj dae
M08 an0denemld 2leimo msemim). t=0 s MR Hadw)es maomeyo

(U)o WINOEE0 2 cm §o 2 cm s~ go @eNY. agled, @eaflo mwafl 12 an
man). sollas x oxfh allel e :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The difference in the number of waves when yellow light propagates through air and vacuum
columns of the same thickness is one. The thickness of the air column is mm.

[ Refractive index of air=10003, wavelength of yellow light in vacuum= 6000 A]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

pemmeCElajo B0 HJVER  OLNMosETIANS®)0 )My (Vaccum)
mimosml)nswlo &S] alodjeniod @eonamsgns ageneme oag aoge smosn
(1). cowy mimos@aled &g mm @pem.

[ eoalubemm  mjalld, wowy=1.0003 @mools osmacs.a)eslad
mooneeateeio= 6000 Al

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Select the correct statements.

A) Crystalline solids have long range order.
B

i

Crystalline solids are isotropic.

(
(
(C) Amorphous solids are sometimes called pseudo solids.
(D) Amorphous solids soften over a range of temperatures.
(E)  Amorphous solids have a definite heat of fusion.

Choose the most appropriate answer from the options given below :

Options :

, (&), (©), (D) only

, (&), (B), (E) only

,. (©), (D) only

, (B), (D) only

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@I (MMM HDOOIIMSIAN)D.

(A) @lgoneind auoamsias i cosal gotwd pere

(B) lgyoneid euosmaid Hagemoasanls eoa

(€) @eenodaan auoames afleiGajodh myjewd auosadd agmjo alllanojed
(D) @oeaofenmy uoemcd monllaw)es 6oy sowalae a0 ad)maY
(E) meenotanmy eLoamudds 60} a0 adlfy Bond aljatd HaBaaL0

moe eavidlanym o lezmiagld almo agaco @mjswogmoe mleasmms)ded.

Options:

. (A), (©), (D) @o(@o

, (A), (B), (E) ao(@o

, (O), (D) ao@o

, (B), (D) m0(@o

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Thompson model of the atom was correct, then the result of Rutherford’s gold foil
experiment would have been :

Options :

, Al of the a-particles pass through the gold foil without decrease in speed.

,e-Particles pass through the gold foil deflected by small angles and with reduced speed.



3 a-Particles are deflected over a wide range of angles.

, All a-particles get bounced back by 180°.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
emoomuenden) avegodla eaonud tdwouiogm) agelal ojmdeasondon wjten mdls

aiflagemniac ango @owidano -
Options :

0GR a-AEMEBRI0 CAINM MatiShnlSIem Myl MAISIAIRS &S] Ealddsio.
1.

mjden OBISeeS BSMealonl)m a-demasd paldlo esmomegalldd

, Ommino0jewlo GUOM GOV Ao
a-BHEMETBUD MOMIW EHoeMEAMEIEd H@MIDOO0.
3.

, QORI a-dmememeglo 180° @il @ldlojaiolo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ; one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A 50,(g) is adsorbed to a larger extent than H,(g) on activated charcoal.

ReasonR:  50,(g) has a higher critical temperature than Hy(g).

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :

: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct but R is not the correct explanation of A.

3 A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M6Y 0618} (VBRIMAD aosjomlalanimy. am daejo A agmjo eyl

A)0aMo R agimyo mrswoganjsealalanim) :

M0 At 50,(g) @odSleupl aiodeamodld Hy(g) alemanod wganewlimo
@oAEMdeT 6.21Ynls)0.

&00aMmo R : S0, 1 H, 6mefod s @igand monirie gen

oaeld aaosjmidanim nimonnagns eoelojmmim mey admosmldasm
aondaimyaglad ooy agypaugo momjswogimo @loaemms)de)d.

Options :



. A ©pR go ndlwoen, &js00m A s eilwow alosleoamaosm R
, A ©jo R 9o tadlwoan agymond, A wjes cedleow afledacemag) R,
; A vo@lwoem, R e@goem.

. A emg@oem, R vodl@oeny.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The CORRECT order of first ionisation enthalpy is :

Options :
Mg < Al<P<S
1.

Mg < Al<S<P
2.

Mg <S < Al<P
3.

Al<Mg<S<P
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
@DAE) EIHIMENVAHM agBooMe]lwies dh)MmIw (@Hao @M :

Options:

Mg <Al<P<S
1.



2

3

4

Mg < AI<S<P
Mg <S<Al<P

Al<Mg<S<P

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The addition of silica during the extraction of copper from its sulphide ore

Options :

, converts copper sulphide into copper silicate

5 reduces copper sulphide into metallic copper

3. converts iron oxide into iron silicate

A reduces the melting point of the reaction mixture

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eebda | on woafleng idaeanad mealda dmyo caudeidanyemion nielsn aitenom

dh6Mmo

Options :

1

rsoa;o%j& ATl TaldTb (5100 fsoa:agjr?a miellesnn @H6l MMy,



N Gdh0a |d mdeaasulom eagoalld ediald @RS liienim).
, @ odeamullan mwsd niallesnq @ass mogmy,

, elaidemm dlggleamion onned dlal #i0uenom.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of neutrons and electrons, respectively, present in the radioactive isotope of
hydrogen s :

Options:

, 2and 1
, 3and 1
, 2and 2

, 1and 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AeoWRAM conlews mdslal fagemoesialld 9as Mm)iesom Balaswjo

DRGSRV o VIO

Options :

1.290190



, 380160

32@02@0

4.190190

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I :

List - I List - I
(a) Li ()  photoelectric cell
(b) Na (i) absorbent of CO,
¢ K (iii) coolant in fast breeder nuclear reactor
(d) Cs (iv) treatment of cancer
(v)  bearings for motor engines

Choose the correct answer from the options given below :

Options:

;. (@) - (iv), (b) - (it), () - (i), (d) - (ii)
, @)= (v), (b) - (1), (c) - (ii), (d) - (iv)
5, (@) - (v), (b) - (i), () - (iv), (d) - ()

5. (@) - (v), (b) - (i), (c) - (ii), (d) - (i)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algld - [, alglds - 11 200 c2inlonls] Coibde)d

L algldb - I
(a) Li ()  Ga00G30 EAIH(SIds AV
(b) Na (i) CO, e mosniarvodeniy
(¢ K (it)) - a00gy Ewd mygslwad dlwodsdlm ulladlen
(d) Cs (iv)  dwondaucileng ofllan

(v) e0eg0d ageailmmsld seniedlov) myw

@069 midlasmeaudie mlmjo mmewogno emeo allenemms)se)d.

Options :

, (@) = (iv), (b) - (i), (c) - (i), (d) - (ii)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Number of CI=0 bonds in chlorous acid, chloric acid and perchloric acid respectively are:

Options :

. 1, 1and3



5 3, Land 1

3. 1, 2 and 3

" 4,1 and O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

egroom” mpmlad, egoole eomila, eudegodle epnlw agmiules
Cl=0 esnioegiBains ag)ano LN :

Options:

. 1,13

, 81,1

. 1,23

, 41,0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

To an aqueous solution containing ions such as AP, Zn2*, Ca?*, Fe’™, Ni*, Ba2* and

Cu®*t was added conc. HCJ, followed by HS.

The total number of cations precipitated during this reaction is/are :

Options :



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AP, 7n?*, Ca®t, Fedt, Ni2*, Ba®* and Cu®* gyl @oewosm)ed @osemim 6oy

geloeoorioleeds coneHC go mysdrm HyS o calddnmy

070 (udemmans sl maow aoommo &IREROSTIHAINS oo @O :

Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I+ [Mn(CN)]*, [Fe(CN)(*~ and [Co(C,0,),* are d’sp? hybridised.
Statement II : [MnC16]3‘ and [FeF6]3‘ are paramagnetic and have 4 and 5 unpaired

electrons, respectively.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

1. Both statement I and statement II are true
, Both statement I and statement II are false
3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement II is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
06 06 (nrimacmardd mildlanim),

(Jimou I: [Mn(CN),]*~, [Fe(CN),]*~, [Co(C,0,)5" agmilaugey dPsp’
annlonemad ®mem.

(adrSmocum 11 : [MnCl,J*~ g [FeF, [~ §o alononundlanlo wino@ao 4,5
EIBEISIAM)EN HEBAIW) @A

0jedlad oaosiemldanim nimomaeses eugl.ojmmilo ey adosyemldanm

Bontatiofled ol 9200 OEMR0 AMOAABHSE

Options:



, laImi®oaIm I 9o (Imimocum I o va@lwoem
, 1 ®oIm I o (almimoaim II 9o emgoem
; (I V®OQUM I Lo, ale)sH (alMi®mocUM II emQo6ny

. IV moQIM I &®Q06M, aled (almmoalim II vodl@osny

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - [ with List - IT :

List - I List - II
(compound) (effect/affected species)
(a) Carbon monoxide ()  Carcinogenic
(b) Sulphur dioxide (i) Metabolized by pyrus plants
(c)  Polychlorinated biphenyls (i) Haemoglobin
(d)  Oxides of nitrogen (iv) Stiffness of flower buds

Choose the correct answer from the options given below :

Options :

, (@) - (i), (b) - (iv), (c) - (1), (d) - (i)
, (@) - (it), (b) - (v), (¢) - (1), (d) - (})

5, (@) - (), (b) - (i), (c) - (iid), (d) - (i)



5 (@)= (i), (b) - (i), () - (iid), (d) - (iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
alglds - I, algls - 11 200 Gl0jonts] Golfd)d

gl - | alglds - I
(a) doderuend caoGEMIGHEOMY ()  ondoud pencadMmeT
(b) Band WewIBHeMNS (i) 660N gJonfimomd Haldalai®o
A.1Qa S
() enloglagocleemy fowm (ii)) - aclemosgpomilcd
o08adloameldd
() aamsEaM BIHOANWEE (iv) al)PROSIHRINS BYWM

oildlanym soalemiagld wlmy djmmo gemeo wloasmms)sd.
Options :

. (@) - (i), (b) - (iv), (¢) - (1), (d) - (11)

,, (@) - (i1d), (b) - (iv), (¢) - (11), (d) - (1)

5, @)= (1), (b) - (), () - (i), (d) - (ii)

5. (@) - (1), (b) - (i), (c) - (i), (d) - (iv)

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Which one of the following set of elements can be detected using sodium fusion extract ?

Options :
: Nitrogen, Phosphorous, Carbon, Sulfur

Sulfur, Nitrogen, Phosphorous, Halogens
2.
3 Phosphorous, Oxygen, Nitrogen, Halogens
N Halogens, Nitrogen, Oxygen, Sulfur
Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m0090)eaUIdE a®; 2)ad KanaMM@oAT eMo@o adjtd g m(Sody

onlcudle)) danejalclanond moulanmar ?

Options :

;. OOMSRM, G000, BOdenlem, MUband

, MBand, OOMISRM, CandMIanOM), aOICAIOERMIB:UD
; GANOMIANOM), 60dHHMIlRM, HOHMESRM, aNICLINRM WD

. ANOBRIOZEM (D, EIOMSTM, HMIRM, MBand

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Hyperconjugation is a permanent effect.
Statement I :  Hyperconjugation in ethyl cation (CHS'EHz) involves the overlapping

of C5p2 ~His bond with empty 2p orbital of other carbon.

Choose the correct option :

Options :

1. Both statement I and statement II are true
, Both statement I and statement II are false

3. Statement I is correct but statement II is false

4. Statement I is incorrect but statement II is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



06 6] (mimonimasdd maaaidanm) :

(O I 2 Hannd eaoaiegicnnd aaj mude (eoio @pen.
(admimonu 11 : gyoemiod dopewostilae ‘CHg‘éHg) ABanald edoendeziecnlad

C o2 ~His asnioss mesyom aodenarioel cymiaow 2p sodenlipeyaodd

amimydlom amoul dlsanmy.

0jesld edosjmidanm wnmonmnagies anslojmin ey aaosiemidanm
gontailed odlemy hymi200 HEMRO AMOAATDSIE

Options :

, [I®OQUM I 9o (admimocum II 9o vedlwosrm
, l1®oaIm I 9o (almimoim IT 9o emgoem
; (1 V@mOCUM I Ld@l@o6M), ale)dH (alMi@IcUM II emQo6e)

. (IVmOQIM I &®R06M, aleds (almmoalim II vodl@osny

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH T}

| Conc. HB
C-OCH; —— "% =
H,C | (Major Product)

Consider the above reaction, the major product “P” formed is :

Options :



C-0CH
CHy ’
1 Br
Br (lzl)
2.
OBr 'lcl)
C—-0OCH;
3.
Br (|:|}
C—-Br

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OHﬁ

C-0CH; Conc. HBr pr
HyC | (ot BrEdetmo)

el eompudemmo aldlwaand, Hameodl am (iwom HEdaimo @en :

Options :



C-0CH
CHy ’
1 Br
Br (lzl)
2.
OBr 'lcl)
C—-0OCH;
3.
Br (|:|}
C—-Br

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH
X\
@)\/ Conc. H2504 @/\/ ; m
e
A
A B

Consider the above reaction, and choose the correct statement :




Options :

. Compound A will be the major product
5 Compound B will be the major product
, Both compounds A and B are formed equally
A The reaction is not possible in acidic medium

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

Conc. H,SO, +
>
A

A B
misloal pomialdemmo alduner.y) rdwow nmorin weaamms)and:
Options :
, Mosmo A @REIElHN0 (IWOM STdalomo
, Mosmo B @owildenio (@lwom o@almmo

, o@sMmEnstd A @jo B @jo mieamowfl 9enz0alo

, @ocilasley mown@mldd ev eomvaald@mmo MoWyme



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i) DIBAL-H _
R-CN i H,0 R —Y

Consider the above reaction and identify “Y”.

Options :

, —COOH

, —CH,NH,

;, —CHO
—CONH,

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i) DIBALH
R-CN ) g0  R-Y

D8l E eosemildlanim (icdemmo aldlnele) “Y” o afldlodlw)s.

Options :
, —COOH
, —CH,NH,

, —CHO



—~CONH,
4,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of correct reagents for the following transformation is :

NO, OH
—>
Cl

Options :
(i) Cly FeCly (i) Fe, HCI (iti) NaNO,, HCL, 0°C (iv) H,0/H*
() Fe,HCl (i) NaNO,, HCI, 0°C (i) H,0/H* (iv) Cl,, FeCl,
, (OFeHC (i) Cly HC (iti) NaNO,, HCL, 0°C (iv) H,0/H*
(i) Cl,, FeCl, (i) NaNO,, HC, 0°C (i) Fe, HCI (iv) H,O/H"

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



m06¢ dosjmiidlanym aldloutemmenid dwiw CapBdiesins &maow (oo

(GTE_J)GTﬁ :
NO, OH
o
Cl

Options:
(i) Cly FeCly (i) Fe, HCI (iti) NaNO,, HCL, 0°C (iv) H,0/H*

() Fe, HCl (i) NaNO,, HCI, 0°C (i) H,0/H* (iv) Cl,, FeCl,
, (FeHC (i) Cl, HC (iti) NaNO,, HCL, 0°C (iv) H,0/H*
, ()Cly FeCly (i) NaNO,, HCI, 0°C (i) Fe, HCI (iv) H,O/H"

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is A in the following reaction ?

O
K .,
N K
(i) K
CH,Br
; 0
® A
(i) 901-1/1-120 (Major Product)

Options :



(NH
1 O
CH,NH,
2.
O
Swn-cn— )
3.
CH,OH
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@069 mTdlenymm eomlcdemmenia A agrmosn) ?

N

; K
0 KN
CHaBr I
> A
(i) ©oH/H,0 (ladwom §dalemo)

Options :
O
N
NH
K
1. O
CH,NH,
19
O

Swn-cn— )
: ,CH,OH
4.



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  Penicillin is a bacteriostatic type antibiotic.

Statement Il : The general structure of Penicillin is :

O
R)'K N
H 2 \<CH3
CH,
N
O/;/ o COOH

Choose the correct option :

Options:

1. Both statement I and statement II are true
, Both statement I and statement II are false

3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement II is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



0813} (orimocumdsd errdlanym -
(adoimonim 1 : enicdmilelod ey sossldlewogyodie eow @afl eiewoge @yen.

(adovmaim I : enicrileen oeism moan :

0
R*N
N\ 5\<CH3
CH,
N
O// ¥ COOH

o)adlnd edasyeldlanim wmmoimaas anslojedid moay adosimildenm

gondaerlad oy (adlom e amoaeTS)d :
Options :

, @M I 9o (admimocum II oo vodlwoerm
, @l®oaIm I 9o (alai@moaim II 9o &®EI6eM
; (Vv ®moIm I vodl@oem, aled (li@moalm II emEoem

. (I V®OQUM T H®Q06N, aleddt (al®ICUM IT vodl@osny

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Compound A gives D-Galactose and D-Glucose on hydrolysis. The compound A is:

Options :



~ Maltose

—_—

~ Lactose

N

~Sucrose

w

Amylc}se

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
mowdmo A eanewoslimilmy” msememiodd ail-tjoeiesamo al-(yieanamjo

mOJM). MoW)AMo A af)ma :
Options :

@ODEZ0MY
1.

5 BIOHESOM)
;. (TG (cB-0M)

4. @oalealomy

Chemistry Section B

Section Id : 864351851
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511078
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
150,(g) +0y(g) = 2505(g)

The above reaction is carried out in a vessel starting with partial pressures P, = 250 m bar,
P02= 750 m bar and P50%=0 bar., When the reaction is complete, the total pressure in the

reaction vessel is m bar. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



250,(g)+05(g) = 2504(g)

(ronoemmiloal eole adgamsd Pgy =250 m bar, Py, =750 m bar, Py, =0 bar
ag)rrilsmem auoader ayedlaa (wiudmnmo an) aomemla msmi. webesmo

afdomaniod iudemm anenloa @oad adgo m bar @REY.

(o @os)om aljdemmvosuwlad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of electrons in all bonding molecular orbitals of 0%" is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



05" 61 centosrelosd caolaysod sodenineaale)an MAIBESIMBRIRS @O af)ino

o) . (a@pajo @esiem aljbammosy@ia)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
When 400 mL of 0.2 M H2804 solution is mixed with 600 mL of 0.1 M NaOH solution, the

increase in temperature of the final solutionis _ x1072K. (Round off to the
Nearest Integer),

[Use : H* (ag) +OH(aq) » H,0: .-*.\TH = -57.1 k] mol !

Specific heat of H0 = 418K~ g~

density of H,0 = 1.0 g em™

Assume no change in volume of solution on mixing|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0
400 mL 0.2 M H,S0, 10w, 600 mL 0.1 M NaOH enwriaia digemo 6.o10mon,

pansonm elonrloes monrlawle)es adamal _ x1072K eoar
(omogsiom aljdam mowlad)

[H* (aq) +OH (ag) - Hy0: A H =~57.1 K mol!

H,0 o) Waalrfodes ofg] = 418K 1 g~

H,0 6 mogem = 10 g em™

dgamo e.ged owaias aelm aympmo arTTe agmy &)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a solvent 50% of an acid HA dimerizes and the rest dissociates. The van't Hoff factor of
theacidis X102 (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

60} eowasmile go) eenla HA @pps 50% aawaesom ooigidlo a4

alloeiglan b0 Ho10m) maniadan onfnntad aoodsd @per x1072

(omogsiom aldanmosuiwlad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equilibrium constant for the reaction

A — Mg + 3 Ol

is K =4 At equilibrium, the partial pressure of O, is

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

atm. (Round off to the



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@069 605y (aludemmanien muomjelle mudeoso K =4 @an:

A == M) + - Ol

cnmellmocumodi@d O, oaf coulle: adgo Goen atm,

(9mogs)om aljdem muosilad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
For the cell Cu(s)|Cu®* (ag) (0.1M)|| Ag™ (aq) (0.01M)| Ag(s)

the cell potential E; =0.3095 V
For the cell Cu(s)|Cu** (aq) (0.01M)]|Ag ™ (ag) (0.001M) | Ag(s)

the cell potential = x1072 V. (Round off to the Nearest Integer).
2303 RT
[Use : P 0.059]

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Cu(s)| Cu®* (ag) (0.1M)]| Ag ™ (aq) (0.01M) | Ag(s) agym omueflanh madieisony

Antogndaty@d E; =0.3095 V @oan
Culs)|Cu®" (ag) (0.01M) [Ag™ (ag) (0.001M| Ag(s) agim exroglios sneiesisons etogobarye
= X1072V. (pmogs)om oljtemmuosyelad)

2303 RT
[ = 0% afMileoulan)d]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For the first order reaction A = 2B, 1 mole of reactant A gives 0.2 moles of B after
100 minutes. The half Life of the reaction is min. (Round off to the Nearest
Integer).

[Use : In2=0.69, In 10=23

Properties of logarithms : In 2¥=y In x;

ln[E]:lnx—lny]
y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A - 2B agm angy Botawd eudemmenilad, meelmando A wies 1 enogh 100 dldldlm;

Gcoetio 0.2 620D B madtesand muouflado. (wicudemmentlond medwomymosn
(omogsiom aljdammoosyelad)

[n2=069, In 10=23

In /=yl

ln{E) =Inx-Iny]
y

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 moles of metal complex with formula Co(en),Cl, gives 3moles of silver chloride on treatment
with excess of silver nitrate. The secondary valency of Co in the complex is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Co(en),Cl, agm 6anodye 988 HaAM edrdog/dmilan) 3 caod sguildo Ml
aamespaonl (dalliuudenlefojod 3 caod midwd egonnomw aclanjo

edroog ileel Co @ins amdnmauol aoadryl eoen

) Bemmvogujeld)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The dihedral angle in staggered form of Newman projection of 1,1,1-Trichloro ethane is
_ degree. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,1,1-00(564;0600 enalen myad alogsmia 9ag mosndal caonld
tlaniemiovies awenaowa eaommaal @aem  adiwl. (emogsymm
ajdemmogyjeld)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0
10.0 mL of 0.06 M KMnO, solution was consumed in  titration with 10.0 mL of given oxalic
acid dihydrate solution. The strength of given oxalic acid solution is x107% g/L.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
mmildlanym sosmmoele epmila saweananswy eowawins 10.0 mL 2owies

ansaisaiah 0.05 M KMnO, aowdiwyes 10.0 mL galewuiansnisy mm odiruoals
momilw avodwes el (wowm) e x107% g/L. (omogs)mm
ajBemmuosjeid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A



SectionId: 864351852

Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511079
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

flx+y) +f(x—vy)=2f(x) f(v), f[%}= —1. Then, the value of

L 1
k; sin(k) sin(k + f(k)) ' equalto:

Options :
. sec*(1) sec(21) cos(20)

5 cosec?(21) cos(20) cos(2)

3 cosec?(1) cosec(21) sin(20)



N sec?(21) sin(20) sin(2)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R = Rogm anedatied f(x+y)+f(x=1y)=2f(x)f(y) agn alldcuallaflclanimy.

2
1 u 1
f @ -1 st g, L Gar g o9 o

Options :
. sec*(1) sec(21) cos(20)

5 cosec?(21) cos(20) cos(2)
3 cosec?(1) cosec(21) sin(20)

N sec?(21) sin(20) sin(2)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of the frequency distribution
5=l 6=6 %=8 =)

fi 4 : ( B

be 6 and 6.8 respectively. If 1,5 changed from 8 to 7, then the mean for the new data will
be

Options :

1.



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
amildgnim daydnd adnigloyasad woond, eudedn agmiar vnowae

6, 6.8 agyemmaem.

X, o) 8 o7 el 7 00 aljelw aigawins wooud g -

Options :

17
. 3



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider a circle C which touches the y-axis at (0, 6) and cuts off an intercept 645 on the

1-axis. Then the radius of the circle C is equal to :

Options:

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ (0, 6) -0 AMISIAW)0 x-Bodem 645 M dSM)ElididOlo oYM C

af)™m oo aldloentiaes. agalad ayemo C s @vro agma

Options :
1. 8

, /53



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two sides of a parallelogram are along the lines 4v+5y=0and 7x+2y=0. If the equation
of one of the diagonals of the parallelogram s 11x +7y=9, then other diagonal passes through
the point :

Options :

L2

, @32
, @

L3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&0} monomalsmmla) Gesiemsiem o6 alasd 4x+5y=0, Tr+2y=0

agmMilcu@oan’. monomaleemlad 8oy cwwwemelead maadjo 11x+7y=9

ag)MAdb)M}, ag) b, @S NN dSMYSalidim enlaajeoe.

Options :

. (12

, @2

, @



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f:[0,¢) — [0, 3] be a function defined by

max {sint: O0st=x},0=sx=< 7

2 4+ coszx, x>

f(X)={

Then which of the following is true ?

Options :
: f is not continuous exactly at two points in (0, =)

, s continuous everywhere but not differentiable exactly at two points in (0, «)
is continuous everywhere but not differentiable exactly at one point in (0, ®
3 y y P

A fis differentiable everywhere in (0, )

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:10,%) = [0, 3] agim anedaudd

max fsint: 0<t<x,0<sxy<n

2+ cosx, x>

ag)m e 2o fldlaeymy. agsld moay mmildanimauwiad wdewa ?

Options :



, (0, =) -ab 988 di®jo ene nimsegla f merEimyain @og).
fag)gloulsemjo dherelmyeoy @pam. e, (0, ) -6 OB dhj®jo 06 anilnangal
, Wonodbogyenilad @eg

f agpadisemyo danlmycuay @oem wad (0, =) @ ogg dimjo 6oy milazjalad
;. Wonodbazyenldd og

, (0, @) -@ aggpaisemio f Alaoomayyenic eoens.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the negation of the statement “for all M > 0, there exists xeS such
that x = M" ?

Options:

: there exists M > 0, there exists xeS such that x < M

5 there exists M > 0, there exists xeS such that x = M

3. there exists M > 0, such that x < M for all xeS

4 there exists M > 0, such that x = M for all xeS

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



06 Oosyefldlanim (aloimorima) dhjSimed wdl@adm amena agma

“ag)eo M> 0 mjo x€S afleiedoggiomy. @oadd, v > M @pan”
Options:

. 1€S afleiadogmmaia x < M @oeemexldd, M > 0 @oen.
, xS tflaindoggimaid x = M eoeemesldd, M > 0, @oem.
T!Te xeS -MYo x < M @eemesl@d, M > 0 @peny

, QORI xeS-mjo x = M @eemesl@d, M > 0 @em

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the region bounded by y—x=2 and x>=7 is equal to :
Options:

2

1. 3

I | W

M| O



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y—x=2, x?=y eal afldemailaanim commwilen aloq|gal :

Options :

W | W= WM

M| O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation (x-x)dy=(y+>-3x)dy, v > 2
If y(3) =3, then y(4) is equal to

Options :
1. 12

2. 8

3 16



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(r=)dy= (y+y2?=38)dy, x> 2 o wlanoresyed muaaolad aidaconassn
Y=y} y3)=3 ogled, y(4) ogmey

Options :

1. 12

2. 8

3 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point P (a, b) undergoes the following three transformations successively :

(a) reflection about the line y=1.

(b)  translation through 2 units along the positive direction of x-axis.

T
(c) rotation through angle 1 about the origin in the anti-clockwise direction.

17

If the co-ordinates of the final position of the point P are [‘ N J, then the value of

2a+bis equal to:
Options :

1.9

2.7

4. 13

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



P (a, b) agym enflos) monv@)ag o)m popsmas alewaid)my
@) y=x o coese® mosimaomads] (widlalomlanm

b) x messenioal catoniglal dloeled 2 Wy demim)

©  aludle saslsoodnwl® eaworminialon @slmaomnads % 600
afldloym),

7

5 J AOOMEIM, 2a+b

=

@m0 LIG00W 6nl3) P )RS Mojaldimiosyjdid

agymaia e
Options :

1.9

2. 7

4. 13

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A possible value of ', for which the ninth term in the expansion of

10
1 - I i
[Slogf,,\lzsx‘l i 3(' g) logs5* ”)] in the increasing powers of 3(‘ g] logs(5"+1)

is equal to 180, 1s :



Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
ologsV5' 147 3( ]1‘)3% 7 H] agymalag aesjelaemened aoalmio wldo

L T
3(' g] o541 oxiy cuadiaeym eeiomo 180 @oaemald, ‘-0 mowyaow ojeimoa

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let € be the set of all complex numbers. Let
S, =f{zec: z-2/=1}and

S,={zec: z(1+i)+7 (1-i) = 4},

2

Z—_

Then, the maximum value of 5

for ze S, NS, is equal to :

Options :

3+ 242
1. 4

3+ 242
2. 2

54 22
3. 2

5+ 242
4, 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

C af)M® Gdbdog Jdm) MOAUBRINS NIEMAOEM.

S =fzec: z-2| <1}

S5,=fzec: z(1+i)+ 7 (1-1) 2 4] @M.

2

o ’
- NG aleaonlwl a)elo agmae :

og®, 2 €S, NS,

Options :



3+ 22

: 4
3+ 242
5 2
5+ 242
3 2
54 22
4 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
X

Let f: (a, b) = R be twice differentiable function such that f(x) = J. g(t)dt for adifferentiable

d

function g(x). If f (x)=0 has exactly five distinct roots in (a, b), then g(r)g'(x)=0 has at
least :
Options:

, three roots in (a, b)
, five roots in (a, b)
seven roots in (a, b)

3.

, twelve roots in (a, b)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f: (3 b) = R oad mauem adlanomdeenld @ow anesatimoa. @ealld f(x) = j:g(t)dt

agyma g(x) -7 alan0abaryenicd @men. f (x)=0 agmaday (a, b) wlad el cuymymin
apisemch ooameem, g(x)g'(x)=0 el d0emmaldo :

Options:

. (a, b) @@ oM caISHERD Hns.

(a, b) D@ @0 ApISHERUWD SN
2.

, (@ b) D@ oy cpisamemBdd pansg

, (@ b) W@ al(MENS CLISHETRWD 6N

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A and B be two 3% 3 real matrices such that (A2~ BY) s invertible matrix. If A>=B° and
A%B2= AZB?, then the value of the determinant of the matrix A%+ B is equal to :

Options:

1. 0



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A2-B%) agmay eorbecuibsanch saSiam maw oamg 3x3 dlod eaglamyesoen, A, B
ot A’=B° go A'B>=AB o apwod A+ B agm ealamiian adpddiemd
QORI ag)ma :

Options:

1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let N be the set of natural numbers and a relation R on N be defined by

R={(r, ) e NXN: ¥¥=3x%-112+3y?=0}. Then the relation R is :
Options :

: reflexive and symmetric, but not transitive
, reflexive but neither symmetric nor transitive

2 symmetric but neither reflexive nor transitive



, an equivalence relation

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N agima agand moeyida)es memaoen. N -ab afldaladigs)m o dlead R
agmat, R={(x, y) e NXN : =35 -xy>+ 37 =0). agond @mdlasymy, agalad, R
af)m Cleelayad

Options :

. dleggamilal, milenSls: e, sodmmiglal @og)
N dleqgasmilal amem. milemESlds, sommilglal @og)
N mieagls @em. Gleggaavlal, sommilglal @og)

, B0} dxjeiddmy’ dlealaumd @en).

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
8251n3x , 44c053x} |

Let o= max g% ghoshe] 4 B= min {
ek 1eR

If 8°+ by +¢=01s a quadratic equation whose roots are o5 and B%, then the value of c=b
is equal fo

Options :
1 42



, 43
3. 47

4,90

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

it {825in3x_ 44(20531']! B = min {sindie, ydcosdr]

R 1eR “@(mu @ﬂﬁfﬂﬁﬂgﬁm. 824 br+c=0
Xe /

g o, B% agmrila oRiSHAMR0 B0} 0300 drl MRIIREINME, ¢~b
agymaiad ajeo :

Options :

1. 42

> 43

3 47

4. 90

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
The value of lim i1s equal to :
x—0 [%/1—5&1x—§/1+ sinxj 1

Options :



2 —1
3 —4
4. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4
lim m@ile el\o :
x—0 [8\?1 — sinx — Y1 + sinx} %) C@ R
Options :
1.0
> —1
3 —4
4. 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A student appeared in an examination consisting of 8 true - false type questions. The student

guesses the answers with equal probability. The smallest value of n, so that the probability of

guessing at least ‘n’ correct answers is less than E, S



Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar) allgjodmd aidaxalad 8 cedl-omg s augymy allspdmd pomesmsd

mie) mowjeelad otadanymy vadannasuald, sosmmn ' ol ormosmges

1
Mo > - dbj0conemelad, ‘n Moy ORI Qjelo :
Options :
1. 3
2. 4
3. 5
4. 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For real numbers a and p # 0, if the point of intersection of the straight lines

1-a ~¥-1_a=1 .x-é-: ¥=6 -7

1 > 3 and B 3 3

lies on the plane x+2y—z=8, then a«—§ is equal to :

Options :

1.3

N
Ul

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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m

It tan(g are n arithmetic progression and tan(g],. I tan[?—g} are also in

. [7«
I l: tﬂl‘l I
18

arithmetic progression, then [x~2y| is equal to:
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53 5 5 9 (—) —>)
Let a, band c bethree vectorssuch that a = b X \b X ¢/. If magnitudes of the vectors

= = = 3 - T
a,band ¢ are ,1 and 2 respectively and the angle between band ¢ is 0‘:9‘35 j
then the value of 1+ tan 6 is equal to :

Options :
1. 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



59

> ( ) >
= b X \bX c/@&HM 2)M AHUBSOIBRIM C

5 99 5 9
a,b,c ogmlaLa,b,
agMiuwps macsd @0og@ao 42,1,2aMm b, ¢ anUslswled Hag Gaen

l (0 <f< %} epeemem, 1+tan 0 agmallon ajelo :

Options :
1.1

Mathematics Section B

Section Id : 864351853
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 8643511080

Question Shuffling Allowed : Yes

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the real part of the complex number = m, g e(
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0, E) is zero, then the value of
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Let n be a non-negative integer. Then the number of divisors of the form “4n+1" of the
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The distance of the point P(3, 4, 4) from the point of intersection of the line joining the points
Q@ -4, -5) and R(2, -3,1) and the plane 2v+y+z=7, isequalto .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Q@ =4 -5, R 2 -3, 1) g nlloaecd cwoslof Heneodrom coai@lo, 2v+y+2=7

ag)m maiaso dglaigm aflmicue P(3, 4, 4) agm allmjouje madlengs a)eo

_ (oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let y=y(x) be the solution of the differential equation dy=e"*¥dy; « € N.
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Let E be an ellipse whose axes are parallel to the co-ordinates axes, having its center at
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